
Subject: MATHS                                         19.07.2020 

Class 5 

Based on N.C.E.R.T pattern  

                        Revision  based on multiplication  

1.  Multiply the following numbers arranging in 

column.  

• 453×321 

• 8760×123 

• 6764×100 

• 543×645 

• 6789×900 

• 3406×321 

• 7659×2100 

2.  A school has 40 students in every section of the 

class. How many students are  there in the school  

if 20 sections are total in school?  

3. India scored 12 runs per over .totally India played 

50 overs. One over covers 6 balls. How many runs 

India scored in 50 overs?  

4. There is an electric wire passed across the road. 

There are 20 pigeons sitting on the wire. A hunter 

kills a pigeon in one bullet, how many pigeons are 

left on the wire? 

5. 455×6700 

6. 43×5400 



7. 456×700 

8. 546×900 

9. 658×10000 
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